India has target of having 450 GW of
rencwable energy by
(A) 2025

(B) 2045
(C) 2040

(D) 2030

\ccording to Bourdieu Knowledge of classical
nusic, interest in art arc an example of
(A) Social capital

B) Cultural capital

C) Human capital

D) Psychological capital

'ue to lanthanoid contraction
chibit similar radii,
A) Cd and Au

(B) Nb and Os
") Rh and Re

(D) Zr and Hf

ho wrote a book, ‘Sccr
usader' P

) Francesco Balducci E*Q%
) Marino Sanudo

) Nicolo Polo
) Marco Polo

ets of the Faithfy]

ich of the following state has launched

llet Mission’ with the objective of making

-stale a millet hub of India ?
Karnataka (B) Haryana

Chhalttisgarh (D) None of the above

ludent goes to school at the rate of

km/h and reaches 6 minutes late. If

travels at the speed of 3 km/h. He is

minutes early. The distance (in km)
veen the school and his house is

5 (B) 1
3 (D) 4

President of India can impose
onal Emergency under Article

7. T & UUf 37737 352 ¥ wed UGG HANTHHEA

o F €, St
that is caused by ) T
war - -
nternal disturbance (B) 3Tafteh Fwif
External aggression () TRl IHT
All the above (D) Iyl @it 1
7 waif®
ontinent which has highest growth rate 8. d% mﬂqm e gie ﬂ{aq
pulation ? (A} B)
\sia e (B) Europe R (D) S
jorth' America (D) Africa () Tt S
-2,

-
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1. Y@ 450 cwﬁmﬂqaﬂﬂamﬁmaﬂ

—_—  THwId
(A) 2025 (B) 2045
(C) 2040 (D) 2030
2. M*Eﬁﬂﬂmﬁrﬁaaﬂm,mﬁﬁ '
T 0 Farewr |
(A) AT it
(B) g goft
(C) wr it
(D) mﬁmﬁmqyﬂ_
3. Wit g5 ¥ o — o e
AT d |
(A) Cd 3t Au (B) Nb 3fk Os
(C) Rh 3 Re (D) Zr 3f Hr

4, ;;ﬂfg:amahmm'm%éﬁ
?

(A) ! Tergeh
(B) ¥t wrgat
(©) Prie giet
(D) wTRi Qe

5. Pl A -2 w1 3 e e v 3
e & a0 3 3 e e P 7
[A)\?Erfim (B) i@
©) oaTg (D) 370 & | ¢ 7

6: o 2-;- R0, /571 R ) e
M 6 e 20 ¥ wgm 2 | sw 9w am

3 fft/eer <t 1y @ w3, @ 7@ 10 ez v

r@amh@aaﬂrm%mﬂ:ﬂaﬁqﬁ(ﬂmﬁ)t

(A) § (B) 1

(€) 3 (D) 4

/
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9. Powers to examine the a "-“‘M

ccuaed C "'-I .
vader omes 9. - vifigw & A i iRt R st
(A) Section 313 of Criming] p ﬁ’z R a-‘r}iﬂﬁ
s Code, 1973 focedure | 4 s
(B) Section 314 of Criming] Procedy (A) staufirr Zemfen Wik, 1973 4 urr 313
Code, 1973 o - R —
(C) Section 315 of Criming] Procedy (B) 2R Ll Wi, 1973 ) am 314
re By ;
Code, 1973 (C) it <8 whean wfew, 1973 H w315
(D) Section 316 of Criminal Procedure . gk . .
Code, 1973 + - (D) Fmaafi: g8 Wi wft, 1973 A am 316
10. Read the following carefully and answer the | 107 R e gem & wmur e g A T F I |
question that follow :
. A, B, C, D and E are five I. A, B, C, D 3 E WA aw
friends 11, %B, E@ Emm%,éﬁnazmaam
IIl. B earns more than E, but i foren 2 C
tall as C e 1. C, A9y &l @, AfFTag D Al ER
IlI. C earns less than A, but is T T R
taller to D and E IV. A, D @ S9me1 @1 8, §f6T E @ %9 8 §
IV. A is taller than D, but earns less than E V. D, A ¥ SIS HHIAT ¢, Al 98 T8 § qad
V. D earns more than A, but is the EET I
shortest in the group E@i SR FEE
Who among the following earns the highest ? | ERIE F= ﬁi‘ﬂﬁ?'ﬂaﬂ 87
(A) A (A) A~
(B) B J/R)B
(C) D ~) D -
(D) Cannot be determined (D) Frutfea & <R < wewd!

11. Samir started from his Police Station - 11. @it frflew T W gfm R & T& w0
Inspection duty. After travelling str 2 | 4 Tt e Ter 3 Wg 98 T fw ard gean
for a distance of 4 km he turned left (e 3 ik
market and travelled straight for 6° . He 2 aft 600 . whyr Tera ¥ | T8 [: 0 I _
now turned left again a‘;'ldl travelle rall%hc: 200 T, ey T & | i EINTE‘&'.’(‘IT?- aft 600 .
for 200 m and turned leltman. ravelle
s{:;aight for 600 m. How far Samir is from e et & | TR gfers Rym R e R ?
Palice station ? - (A) 4.4 T (B) 3.8 Caif
(A) 4.4 km :

(C) 3.4 km (D) 4.8 kmv ©) 3.4 ©) 4.8 %fs%
4 4 i[5
(05)4 = (0.4)4 p 12 (0'5) - (0'4) frarsua e ? S
12, ————Is equal to . ——7
(0.5)" +(0.4) (0.5)" +(0.4)
(A) 0.9 (B) 0.09 (A) 0.9 (B) 0.09
(C) 9 (D) 0.009 (C) 9 (D) 0.009
5
13. Frogs can respire in water through 13, ad TRl & vaee favers e R R § 7
(A) Lungs (B) Skin (A) 53 (B) =
(C) Sensations (D) Nose (C) WA (D) A
14. Srinagar is located on the banks of the river 14. mmﬁ%'ﬁﬁﬁ@ﬂ% T
(B) Jhelum (A) Temmar (B) e
(A) Chenab §
(C) Ravi (D) Sutle) (c) ufx (D) we

-3-
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15.

16.

17.

18.

19.

20.

21,

22.

23.

Find the odd onc out in the group of letters.

(A) BGLQ . (B) FKPT :
(C) YDIN (D) MRWB ‘.
Which of the fn]lm\:fﬁg is not a built in chip ?
(A) Level 1 (B) Level 3
(C) Level 2 (D) Level O

Data lines arc collectively known as a
(A) Address line

(B) Data bus

(C) Control lines

(D) Nonc of the above

Who was popularly called as “The Grand Old
Man of India" ?

(A) Dadabhai Naoroji

(B) Lala Lajpat Roy

(C) Balagangadhar Tilak

(D) Gandhiji

Which of the foellowing button does not

appear on the command bar ?

(A) Home (B) Refresh
(C) Print (D) Read mail
Who was called as Grand Monarch o”
Europe ?

(A) Louis XIV (B) Louis

(C) Louis XVI (D) Lou’

D} 40]
%ﬁ'j

An equation xy = c gives in
(A) Rectangular hyperbola
(B) Linear demand curve
(C) Individual demand curve

(D) None of the above

Under IT Act, means a person
who is intended by the originator to receive
the electronic record but does not mclude
any intermediary.

(A) Authority

(B) Signatory’

(C) Addressee

(D) None of the above

The first Biosphere Reserve established in
India
{A) Nilgiri
(C) Nanda Devi

(B) Nokrek

(D) Similipal

16.

17.

18.

19

20.

21.

22.

23,

CMES -82
4 Ry e e e @ e A ghg |
(A) BGLQ AB) FKPT
(C) YDIN (D) MRWB
Frafaftra 1 4 P-dt g A af-anf o adi g 7
AA) @ 1 (B) ¥ 3 gy
(C) siad 2 (D) ﬂaﬁoﬁg
TaE N e s a Fo @l |
(A) T3H TTEA .
_AB) sR1v™ “
(C) F3re T
(D) I &} F§ 7ET
feffaa i@ aF ama ¥ s sfiestr Fam @
i g 7
\YA) ZrenaTs Frarsft
(B) ST Tror9d Ua
(C) anﬁam
(Dy et
Trefufea #f @ FH-61 929 TS TN W
¢ e ?
(A) B LBY e
(C) = (D) ==
i 1 ver wRe (e vard) frRl Fm e 7
() e-XIV LBy SEa-XV
(C) F§E-XVI (D) TEF-XVII
@H‘ﬂﬁmxy=c3ﬁ TR
(A) Imadta TfaqEey
(B) Y= win =%
RN 56
(D) 35 % & = 7
A s Fawm, W
aﬁrﬁ%%ﬁmﬁmm:ﬁaﬁﬁmﬁﬁémﬁ‘
mm%éﬁﬁmﬁmmmﬁawﬂ
(A) STftrert
A(B) geaREal
(C) Wrehal
(D) IR & FE
mﬁwﬁammm
Bt (B) =
(C) F=13=h (D) Rifirferara

.
.
- I i o 3
e umcice Liamh ae o, - S e e B e M i o




25.

26.

27.

28.

29.

=
Ei#ym (C) pan?

30.

31.

32,

ISP stands for
(A) Internet Service Provider
(B) Internet Service Protogg)
(C) Intranet Service Protoco] ..
(D) Intranet Service Provider

CSSRI stands for

(A) Central Soil Sampling Research Instjtyte
(B) Central Soil Salinity Research Institute
(C) Central Sand Sample Research Institute
(D) Common Soil Sample Research Institute

The Organ of the UNO which consists all the

members of UNO as its members
(A) Security Council

(B) Social and Economic Council
(C) Gencral Assembly

(D) Sccretariat

What is the maximum number of picces into
which a cube can be cut by 10 cuts ?

(A) 100 ) 11

(C) 80 (D) 120

Scarcity is the root of

(A) All economic problems
(B) Social problems

(C) Political problems

(D) None of these

L

Ing

The magnetic moment [ of a re
with

electron around the nucleus var
principal quantum number n is

(A) pan (B) Moz

. (D) ua—é

Cyclical changes during reproduction in rats
are called

' (A) Oestrus cycle
(C) Sexual cycle

(B) ‘Menstrual cycle
(D) Asexual cycle

2032 Olympic will be held at
(A) South Korea (B) Indonesia
(C) Australia (D) UAE
.The age of the father is four times that of the

son. 5 years ago, the age of the father was 7
times that of his son, then their present ages

are

40, 10 (B) 35,7
((3; 42,6 (D) None of these

& e e

25,

26.
—16) it

27.

28.

29.

30.

31.

32.

m e
(C) 42, 6
O}:0) av

ar
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i 24, g, (ISP) F Haw 8

(A) $ee BT vamget

ABT S0 wfde s

(C) z::ﬁznﬁesﬁzﬁm

(D) e afdfa vt

.70, 79,3131, (CSSRI) Tl 7o §

(A) Fza wizer Arafem fad ey

(B), Hzet wige Afrfd frard 3R

Q) &z dis & fad 3RESR

(D) =i wiger e foad sfReeqe
ﬁgaautgﬁq'ﬁmﬁﬂﬁﬁgﬁw#ﬂ%mﬂm
WHTTHEAE [

(A) Fen qitee
afr anfef uRae

(C) 3 |
(D)

10 72 ZI0 U T it arfran it gwel e
RO 7

(A) 100, 11
(©) @0“ (D) 120
T FYAC |
XA) T Tl wwe
(B) | GHE
(C) T fersh wAre
(D) T & 1§ T
v & AT 3 P AT G Ty F g
gmpnﬁ@mﬁwn%mmﬂaﬁaﬁm%
1
(A) pan _ABr ke
(C) pon? (D) "“%
g i o 5 e =
e & |
e =% (B) Wity <
(C) i = (D) 3relfiien =5
2032 FaledRs__ HEM|
(A) aftror e ABJ SRR
(c) iteferm (D) L%,

e 1 g g ot s A =wEn R 1 534 Fr
& oy g A A A 7 7o of mﬂaﬁrﬁmt
(B) 35,7 2

(D) T & Hr§ e
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In a certain town, 40% of the people have brown
hair, 30% have brown eyes and 12% have both
brown hair and brown eyes. What percentage
of people in town have neither brown hair nor
brown cycs ?
(A) 41

(C) 44

33.

(B) 43
(D) 42

The clection campaign must end

before the closure of election.

(A) 24 hours (B) 36 hours & tCl
(C) 12 hours (D) 48 hours MG

34.

The sum of three numbers is 102. If the
ratio between first and second be 2 : 3
and that beiween second and third be
5 : 3, then the second number is

(A) 30 (B) 45

(C) 27 (D) 48

35.

Which of the following Committee has been
set up by Reserve Bank of India to review
working of Asset Reconstruction Companies
(ARC) in the country ?

(A) N. C. Muniyappa Committce
(B) Rajnish Kumar Committce
(C) Sudarshan Sen Committee
(D) None of the above

36.

India’s first ‘Water Plus’ city unr’
Swachh Survekshan 2021 is

(B) Chai.digarh
(D) Indore

37.

(A) Dehradun
(C}) Mysore

The fourth World Social Forum (WSF) meeting
was held in

(A) Delhi

(C) Porto Alegre

38.

(B) Mumbai
(D) Montreal

If the tenth day of a month is two days
earlier than Friday, what day will it be on
the nineteenth day of the month ?

(A) Sunday (B) Monday

(C) Wednesday (D) Friday

39.
EiE
=

40, Who is the first women President of the

United Nations General Assembly of India ?
(A) Sarojini Naidu

(B). Madam Vijaya Lakshmi PELTldIt

(C) Kamala Harris

(D) None of the above

y./

33. RRANEH, 409 it R aer 8, 30% g 3G
M 12% F ft arer ok it ot 261 & 1 it Ay

ST S & a e § afte f o artd 7
(A) 41 (B) 43

(C) 44 Dy 42

w?ﬁﬁﬁﬁﬁétqzégmmmﬂm

) 24 ¢
(C) 12 &2

7 wemet w1 A 102 2 | IR weedt IR
galt % 19 %1 ogua 2 : 3 3k g@w o fiw

F 9 F A 5 : 3 B, A qEht wE g
(A) 30 m@
(C) 27

36. %ﬂﬁnﬁaqﬁfgaﬁﬁwmﬁﬁ(qmm)%
mmmﬁnﬂmmﬁﬁif’mﬁnﬁﬁaﬁiﬁﬁm

ﬁﬁmmmﬁaﬂﬁmﬁmm%?

() . =t gfaon wfafa
AB) T g afii

(C) gevta & whifa

(D) IR & & g 7

=0 GAY 2021 % STaria WA 1 &
T T TR R
( (B) <TG
C) ¥ (D) RN

et T A B W@W}ﬁmaﬁ
e g oft 7
(A) feeeht
(C)

(B) 36 T2
(D) 48 2

35.

(D) 48

38.
(D) Wi=ad
39.

mwRF 19d RasH-miaam ?
(B) |MaR

Am’wj

e T WETEMT R el Wi s A 81
T g,

(B) Yz fasmn vt ufta.

(C) wen §iw

(D) It & A wrd T

40.
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41. They direct appropriate behavior

42.

43.

44.

45.

416.

47.

i in th 5
to-day practices and expressions of g cucu?_.ﬂy
(A) Norms (B) Sanctions
(C) Folkways (D) None of these

will be the In-charge of a
sub-division in the district.
(A) Additional Superintendent of Police
(B) Depuly Supcrintendent of Police
(C) Inspector of Police
(D) Sub-Inspector of Police

Sclect the correct mirror image of the given
figure when the mirror is placed at line AB.

LAKME

——

4__——-

—_—

PONDS

B

AMAAT 2avoq
- _ -—

(A) —'—'—“E B

{_—.——

sanogd AMAAL
AMAAIL AMNAAL

0" B
- —— e
2anoq 2adVOoP

Which of these is a decomposer ?
(A) Crow (B) Tiger
(C) Rabbit (D) Fungu

Complete the sequence by filling 1n the
missing letters.
a_c_b_ab_a_ca_c
(A) aabbcc

(C) abaccb

(B) accbab.
(D) baccbb

It refers to the social position with defined

rights and duties assigned to these positions
(A) Status (B) Role
(D) Identity

(C) Designation

What is the distinct ecological community
of plants and animals living together in a
particular climate ?
(A) Biome

(C) Population

(B) Ecotone
(D) Community

C,

CMES - S2
41, AEER RA-sRRa A el sh R
oy # afra syawn ) Ffm 7@ §
Y (A) wTEE (B &g
;é"mj (C) st (D) T8 QB T8
42. e fre) 3 e IHEE ST |
() ffa gRra sdias
EeIDiES
(c) gfem s
(D) g%umﬁﬂeﬁ
43. angw@ﬁaﬂaﬁm&nﬁﬁﬁﬂﬁmaﬁahaﬁ
Y@ AB W@ I # |
A
LAKME
2anod
127 (p—
+__—
AMAAJ
AMAAIL
el e e
‘_——
) 2aviOP
44, QA FEA-T1TH ATHF & 7
(A) ST (B) =
(C) @TT ADT Sdh
45. g e A g D TE e B R |
atcabzabta’tca_c
(A) aabbce (B) accbab
(C.) abaccb D)}-baccbb
46. 7@ 3T T F s gRowa Rt o wdel
ATy e Tl # wehifa Fwr e
(A) feufa (B) P
LT TR (D) vE=H
47, Tfire Seramg 3 G Wy 63 T i 3wl %
Rifire yRferfs TR A T e § 1
—tAf =4 (B) TR
(C) WieHeRH (D) Fff
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48.

49,

50.

51,
52,
53.

54.

55,

56,

SMPS stands for

(A) Simple Mode Power Supply

(B) Switched Mode Power Supply
(C) Simple Mcmory Power Supply
(D) Switched Memory Power Supply

Traditionally, the subject matter of cconomics
has been studied the following broad branches
(A) Deductive and Inductive Economics

(B) Positive and Normalive Economics

(C) Micro and Macro Economics

(D) Static and Dynamic Economics

Vamasadhara river dispute is between
(A) Andhra Pradesh, Odisha

(B) Andhra Pradesh, Karnataka

(C) Andhra Pradesh, Tcelangana

(D) Andhra Pradesh, Tamil Nadu

Il the alphabets are written in the reverse

order, which letter will be 12" to the left of
the 16™ letter from your left ?
(A) D (B) X
(C) W (D) V

The average of 5 consecutive even number
A, B, C, D and E is 52, What is the prod
ofBand E? )

(A) 3000 (B) 2988

(C) 2916 (D) 2800

What is the maximum denomina! . of coin
can be issued in the countr .. per the
Coinage Act, 1906 ?
(A) Rs. 1,000

(C) Rs. 100

(B) Rs. 10,000
(D) None of the above

—  _ system, the electron beam is
swept across the screen one row at a time
from top to bottom.

(A) Beam penetration

(B) Random scan display

(C) Raster scan display

(D) None of the above

In birds, the forelimbs are modified

into ;

(A) Wings (B) Nails ;
(C) Beak (D) None of these

If 20 men complete one-third of a piece
of work in 20 days, how many more men
should be employed to finish the rest of the
work in 25 days ?
(A) 10

B) 20 "
(C) 15 L

(D) 12

48.

1

49, ﬁwmmﬂ,amﬁﬁwmﬁﬁqﬁﬁ
e NS 1 e e 2 |
(A) T 3k wieieres arfmrer

' & N e aforer

(C) q&m 37N e s7efames

(D) f@r it nferwfier arefamen

50. 3uEYm ) far
(A) 3muwew, ahfewm
(B) myuw2w, FAfesw
(C) MywRy, AT
By SR, afierrg.
51. uﬁ@aﬁﬁzﬁmﬁ%&umhmaﬁﬁw
e Fand 12 9 s RF-Tmam ?
(A) D (B) X
,/(6} w (D) V
5 WiW® @9 W& A, B, C, D 3N E %1 3lwa
52 %, @ B 3 E 1 A% fovam g 1
(A) 3000 BY 2988

(C) 2916 - (D) 2800

53. faa ifufam, 1906 & ogam 3w § s &
arftraw Hea T A fohan w8 ? |

(A) %. 1,000 (B) ¥. 10,000
(D) IFU & | w3 78

A€) F. 100
surett #, g oty 1 I AR
o U 990 H O iR WEhE W fegemm s |
(A) < T
&= faet
(€) T & foeat
(D) I T R 3 TEl

Fdag

52.

54,




A

Vo)

57. In this question, two stq
L] te .
followed by two co"clusio':;ntéhnrc given
conclusion(s) which best fit(s) llogic::;;;c the

Statements :

1. All pig arc animal

2. Somc animal arc not bird
Conclusions :

I. Somc pig arc not bird

[. Some animals arc pig

(A) Only conclusion 1l follow
(B) Only conclusion [ follow
(C) Neither conclusion I nor II follows
(D) Both conclusions I and 11 follows

58. In zaid scason crops are sown and

harvested in

(A) April-June

(B) September-October
(C) March-July

(D) December-February

Malabar Exercise is Military exercise of India
with

(A) US and Japan

(B) China and Japan

(C) Japan and South Korea

(D) None of thesc

59.

To check for new e-mails, click the

60.
link.

(B) Compc .najl

(A) Sent
(D) Draft

(C) Inbox
!

A step down transformer is used ona 1000V
line to deliver 20 A at 120 V at the sccondary
If the efficiency of the transformer is

61.

coil.
80%, the current drawn from the line is

(A) 3A (B) 30A @
k@\

(C) 0.3A (D) 2.4 A EEEE:EEI
w. P is sitting 14"

from the left and Q is 7 from the right. If

there are four boys betweén P and Q, how

many boys are there in the row ?

(A) 19 (B) 21

(C) 25 & (D) 23

62. Some boys are sittingin ro

CMES - 82

57. yawad, A Rym § e e Rem e |
3 et g < ks w A waten wAF 93 6 |
HYA

1. ot gar oy ® |
2. Fo Iy U T € |

e
[, T gontueh T 8 1
I, Fo e g E |
(A) et Fored 11 STerTT e &
(B) e Frerd 1 AT T &
() Ad Perd 1A A1 I AT §
(D) 2141 Frerd 1 3f 1 argw R §

< 3 e 3 e o v & S
ST &

(A) s-s@ A

(B) fdar-araga |

(c) ard-ges A
Jm%ﬂm—ﬁﬁaﬂﬁ

e F T &=

58.

By < ol
(C) T 3d afér e 143
/(D) FHA T g%

60. mé—ﬁa%@%%m__%mm%mmﬁm
(A) F= (B) S id
T (D) ¥
61w P g s gee W
120 V W T 1000 V A W20 A
@m%%ﬁmﬁmm% | ol

;iw“rﬁtfﬁa::ﬁmao%%,a‘rmﬂ
Ao fgad, :

(A) 3A (B) 30 A
(C) 0.3 A (DL274 A

FoaghimEi a3 ¥ | PACH 14t aQard
F73 ¥ 13R P Q F A A THH § | foFert

aen i ?

62.

(A) 19 (B) 21
_—TC) 25 (D) 23
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63. Length: Metre :: Time : ?
(A) Pascal (B) Ampere
(C) Minutes (D) Kilogram

Directions (Q. No. 64 and 65) ; Study the following
information carefully to answer the questions
given below,
Seven frends P, F, R, T, Q, N and D are studying
different specialisations IT, Civil, HR, Marketing,
Finance, Journalism and Pharmacy not necessarily
in the same order. Each one of them have liking
for a different colour red, blue, green, yellow, pink,
orange and grey, not necessarily in the same order.
Three of them are girls.

P likes yellow colour but does not study IT or HR.
The one who studies Civil, likes grey colour and is
a girl, Q, who is sister of N, studies Marketing and
likes pink colour. D's specialisation is in Pharmacy
and likes red colour. N, the wife of R studies HR
and likes green. F likes grey and R likes orange,
the one who likes blue studies Finance.

64. Who is studying Civil ?
(A) T
(B) P
(C) F
(D) Cannot be determined

65. Which of the following is the group of girls ?

(A) Q,N, P
(B) F,Q,N
(C) F,D,N
(D) Cannot be determined

66. A basic unit in Spreadsheet is Ela
(A) Cell (B) Row e :’}ZS
(C) Line (D) Column

67. The number of ways that 8 beads of different
colours be arranged in a necklace s

(A) 5040 (B) 2880
(C) 2520 (D) 4320

68. In a row of girls, Shilpa is ej t
left and Reena is seventeenth ?rl;n}ll ti;:;:Ti s
If they interchange their positions Shﬁht.
becomes fourteenth from the left. Ht;w pa
girls are there in the row nany

(A) 29 (B) 27

(C) 32 (D) None of thege

-lu-

=

;
CMES-g3 |
63. ot qug: 7
(AY I (B) TR [y
(©) fre (D) forciima 2R
(w4, 64 3t 65) : ¥R Re gy F Im A F g
I 9 e & vy |

wafiap R R T, Q, N 3 D fafir ferdrgand I,
feferet, KR, faravm, fm, wretar shceid e @ 2, SR
ST el 7eft o & €1 | i @ el <) owe R i gy
<, <, &, dten, e, o st @A 7z ft s
’!ﬁﬁ?mﬁﬁﬁlmﬁﬁma@ﬁ?ﬁﬁl
P 1 el 1 weie & oig IT 71 HR 1 315 7 el 178
Tl ot sverm w1 2, @R 1 v w2 shom
TEH R, Q, N F @g7 8, N 9 5 fargvm =1 aveqad o @l
® 3 Tt O ez e & ) D 1 Rrdrwn s § 4 ol
I8 T 196G & | NS R ) Oeh & HR 9 e aet
3 B e elt @ | F o W G R WA e 2,
o i e 1 vz 8, R s A g |

64. fifEaTwgwe?
(A) I,
BDF
IO'F
(D) frutfea = fman s waer

65. it 43 S-wr i w7

4 (A) Q,N, P

_/115)l F,Q N ' -

(C) F,D,N 1
(D) Fwifa 7 fFar s wran

66. /x?’uﬁmwﬁm‘ 2
) &< (B) GfFy
() @ (D) %M

67. e A= & & 8 vl N omRm = &
Al 6 ve 2
(A) 5040 (B) 2880
(C) 2520 (D}4320

68. wrsfrdl i ww ufw ¥, R W wm A @ o,
hmwmﬂmﬁﬁlwﬁémmm |
H wreet St €, ) e anf A et R amh @ 19

T e gt 8 7
(A) 29 ) 27
(C) 32 (D) i A= A
S - ﬂ
g 6 (7
S

|1
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69'

71-

72.

73.

T4.

75.

Madhu booked tickets for

trailers was released 20 3‘ movie, whose
booked the tickets. He Watcﬂys before he
45 days after the trailer wyg ed the movie
movic was relcased 16 days bcrfclcascd. The
which Madhu watched the mus.m thedayon
day of the week was the movie 'CI- On which
booked the tickets on sunday ?l'c cased if he

(A) Monday (B) T
(C) Wednesday (D) F‘-rlifisac)!’ay

Which of the following Schedule of the Indian
Constitution deals with Anti-Defection Law ?
(A) 9" Schedule (B) 12™ Schedule

(C) 10" Schedule (D) None of the above

From the given answer figures, sel
one in which the questi , select the
embedded ? question figure is hidden/

)

w (|3 @ ||E]
© ||} o) ||X]
Which number will come in the place of questi
mark ? )
101, 98, 93, 86, 75, ¥
(A) 71 (B) 68
(C) 62 (D) 73
r/s of

Which of the following is/are 1\:

poverty in India ?
(A) Malnutrition leading to poo

to discase
(B) Lack of access to healthcare

(C) Lack of job opportunitics
(D) All the above

If in a certain code,
YNWIL' then how wi

r . -sistance

‘CRAMP' is written as
11 ‘GRASP’ be written in

that code ? B
(A) CNWOL (B) CWONL
(C) CNOWL (D) CWNOL '8

ne ol the

Which among the following is ©
steps taken by Reserve Bank of India (RBI)
to Curb Money Laundering ?

(A) Adhar card
(B) KYC (Know
(C) Google Pay
(D) Phone Pay

Your Customer)

- (2.

vo. Tl wfum B fafafea § @ FE-d@ g
zeraee ) F Gefia @ 7

) 1241 reEh
(C) 10 argest (D) It 7 & w7l

71, @ I rpat i &, 78 SR ghY, R v
mﬁ.m‘?%/mﬁa%l

]
1

(€

e

] £l
4 K]

mﬁzﬁ%mmaﬁq—%ﬂmmﬂ?

101, 98, 93, 86,75, 7
(A) 71 (B) 68

€71 62 (D) 73
ﬁq%%ﬂﬁﬁm—mmﬁnﬂﬁmwtiﬁ?

(A) W%mﬂwgﬁﬂﬁmmﬁmﬁ%
(B) T&TEeq ¥aT T g H I
() et & el Al

_ By Totaq wdl

af2 o Fz i 'CRAMP’ ® yNWIL' Rrat s @
mwﬁ'@mﬁ’ﬁﬁf&mm?

CNWOL (B) CWONL

(C) CNOWL (D) CWNOL
i R S s o e e s ¥ (e k.
U FH A A F FRA TS 1 ( )
(A) TR

B %, k. W, (T g W)

(C) T
(D) $A Y

(B)

(D)

73.

74.

75.




76.

77-

78.

79-

80.

81.

82.

Mura-Drava-Danube (MDD) was rc_cently in
the news, it is related to

(A) Landform established by the Danube
river _
(B) World’s first five-country biosphere

reserve ' _
(C) New variety of fishes in Danube river

(D) None of these

Five permanent members of Security Council
are
(A) China, United States, France, the United
Kingdom and the Russian Federation
(B) China, South Africa, France, the
United Kingdom and Japan
(C) China, Australia, India, the United
Kingdom and the Russian Federation
(D) China, the Canada, UAE, the United
Kingdom and the Russian Federation

Points A and B are 100 km apart on a
highway. One car starts from A and another
from B at the same time. If the cars travel in
the same direction, they meet in 5 hours, If
the cars trav@l towards each other, they meet
in 1 hour. What is the speed of the faster
car ?

(A) 70 km/hour

(C) 60 km/hour

(B) 40 km/hour-
(D) 80 km/h-

— is a general purpose
communications port through wi..ch data
are passed slowly over long distances.

(A) Parallel port -
EIE‘ 40|

(B) Serial port
(C) Both (A) and (B)

etal jg bound to only

PS are known as

(D) Neither (A) nor (B)
(B) Hﬁtemdentatc

(D) Homoleptic
The regions where farmers -~
vegetables only, the farmin SPecialise i
(A) Viticulture

(C) Truck farming

Complexes in which m
one kind of donor groy
(A) Homodentate
(C) .Heteroleptic

76. -39~
j?“ﬁa a‘?ﬁmmmﬁh %

) S e e

(B) “ﬁm%mmmmmm

(C) 87 o ) ot 3

(D) %79 & 38 7 "

TZ. 'ﬂtmqﬁqzé;ﬁ-qmwg

(mﬁhﬁmmnﬁmnma%@m“mu
aq '.

(D) =, % %, .93, TR frey af e
Tl gy

TR g A 3iB 100 ity
"?;mﬁmaagaa’l?ﬁ%aﬁta@nmggﬂ,
FB A | 3 O @ fom & v §, @
a5 ue H frerelt € | 3 = ver g i i
A EN A 1 R A € 13
FRF AT 7
(A) 70 faft /e
(C) 60 Tersdt /e

78.

N

(B)_40 /v ©
80 ferrt fder

wmmmmﬂﬂfﬁf !
l

79.
A1 { s Y- woft it @ 39 wm
(A) fhﬁml%
_ (B} Hifs
(©) (A) 3R (B) |
(D) 7 (A) TE (B) '

e ol e g e e 35 gl A A
dmeae,_ Fe g :

80.

81,

82,
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83. _1,0['13+9+2

140.-44><9+3
_——-—"’_'—_-—_——_-=

2
22
(A) “3 (B) 51
2 3
© 43 (D) g%
5

is the ratjg
ents m_ade towardso tota] int
revenue receipts of the go,_,etl“’ debt tocrﬁf:,
(A) Interest Payment to Rch&Tem'
(IP-RR) € Receipts
(B) Interest Lost to Reve
(IL-RR)
C) Interest Paymen
(€ (IP-RL) yment to Revenue Lost
D) Interest Payment to R
( Subvention (IP-RS) S

84,

Nue Receipts

gs. Fusion of [?rolop]asms between two motile

or non-motile gametes is called

(A) Plasmogamy (B) Mciosis

(C) Karyogamy (D) Plasmophagy’
86. CMYK is combination of following colours

(A) Cyan Magenta Yellow Pink

(B) Coral Magenta Yellow Black

(C) Cyan Magenta Yellow Black

D) Coral Magenta Yellow Pink

87. Which of the following is-, exampl
Circinotropous Lyp¢ of ovule * -

(A) Tomato (B) I{;ﬂg;‘a
(C) Mustard (D) ©P ‘

88. Two b nd A t
ottles A @ A, the amoun
.. Sulphuric acid. In the bottt:nt of acid while
8 of water is double the amOf cid is 3 times
i bottle B, the amouTy should be
that of water. HOW muct o prepare
taken from ecach pottle :lﬂ_ 0
Slitres of diluted S':ld “
tqual amount of ac! B) 1:
A)2:3
C)3:2 p
' DEScrtanimalshﬂ"c'thcc ]
ur‘il’lcr ¥ (B) lsgsmotl.c
(A) Hypotonic p) Dilute
(C) Concentrated o
The compound 5“63:31 theend %4 ¢ simple
oo o2 Y 42 o7
. S. 8, Y- sal
interest accrued 7 ﬂ;cpcnﬂd ?
Same rate in th¢ sam® ¥(p) Rs: 7'
(A) Rs. 4,650 (D) RS«00
(C) Rs. 6,650

=13~

CMES - 82

140 -44x9+3

%"Fl 18+9+2
(A) 22 1
3 _,LEl—JPE

L
& 3

B4, ___ W@ e Wit w5 Ev & g
o et =t el @ o |
(A) = A & T wifat (IP-RR)
/{f)/mm#mﬁmﬁu’l(mn)

(C) =T YT & T &1 (IP-RL)
(D) =& YT | T 37geH (IP-RS)

85, AAmfreie ar e g o i S H e
FedT
(A) FEREEEA _,{B)/Hd'{ﬂﬁﬂm
(C) FEFcrdA (D) SIATEHTEITEA
g6. At ¥, (CMYK) 7oeH ?
A fasm dor= = i
(B) Fra ForeT A =
(C) faram Farme Feh &=
(D) et Hower et o
87. ﬁq%fbﬂﬁﬁa?m-mmaﬁﬁﬁqam%

4
D) 6=
()65

88. 2 et A 3 B g FewfE I R |

: @ & fan, e 3
?Mmﬁ,gﬁ% | T s
e : (B) 1:4
4{3’33 (D) 5:6
89. ma%jﬁ sﬁhﬁi F g L A 6
l -
_,j:rmammﬁ (B) TR
(C) wifsd (D) 7
90. uﬁw.zs,sooﬁuﬁmaaﬁaﬁaﬁmaﬂﬁ
=T 5. 8,440.50 t.a‘lmﬁuﬁmw:ﬂﬁ
tmm?ﬁaﬁmmmﬁm
(A) 3. 4,650 B} . 5,650
(C) . 6,650 (D) %. 7,650
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English Language

91.
verbs from the alternatives given below them.
Doctor my tooth without any
pain. ;(.B/
(A) Drew up Drew out
(C) Drew back (D) Drew on
92. Thefollowingsentencecontainsgrammatically
‘error or idiomatic error in it. You have to find
out that part of the sentence and choose the
alphabet of that part as your answer.
There comes a time when the need for peace
and closure is more great than the nced for
undoing an injustice.
(A) There comes a time when the need for
peace
(B) and closure is more great than
(C) the need for undoing an injustice.
(D} No error
93. " Fill in the blank with appropriate word from
the alternatives given below it.
Pramod everyone accepted *
proposal.
(A) Accept ,IB]‘/Expuct
(C) Asset (D) Except
94, In the following question, a scnte'\ has been
given in Active/Passive voice -+ of the four

alternatives suggested, seler _.1e one which
best expresses the same séntence in Passive/
Active voice.

Before festivals, the shops are
thronged with people making
various bargains.

(A) Bgf?“’ festival people assemble at
. shops to make bargaing
(B) People make various bargains
before festivals
(C) Before festivals people thmng the
hops making various bargains
AP The shops are thronged by people
making bargains peop

\!ﬁ. St
!

95, Fill in the blank with o

PPropri
from the alternatives give Propriate modals

N below them,

We help the
(A) Should BYn
Dare Oen
() ) Ought
__-"———-___

Fill in the blank with appropriate phrasal

5

B
CMES - g,
e ﬁ“"“ﬁfﬁﬁaﬁzwuﬁﬂﬂm%?
(A) (?)
(B) {1)
AT (7
(D) T8 & g 7
97. T forad guy sfitfrdi 1 deifta =@
Y 1 G RIS |

(A) frsha
6) Wz ..
(C) T
(D) ¥ A =7 7 &
;P i

58, R e § T @ w92 YU T )
St @ A fr Rl R @ = fri @, 2
— W9 wEd E |
(A) fig
(B) wghfe -
e &
(D) ¥ & = el
99. . () 3 fatm frg =

T ot o

(B) Sufrm

(C) Fdar

(D) ¥ ¥ = Tl

2 BT T < e @
Ay T T

(B) T@A T

(C) vr@ ¥ S

(D) T & wrd el

FEd e |

100.
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